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1 A B 20 50 50 120
2 B Ml 30 40 70
2 FIR BX 40 30 70
4 HNTE Kith 10 30 20 60
5 ERE B 50 50
6 X E=R 40 40
7 /AN 10 10 10 30
7 MR E 20 10 30
9 TE E5E 10 10
9 M= R 10 10
9 RE X 10 10
9 R X 10 10
9 RE F& 10 10
9 AWl = 10 10
15 =B &X 5 5
16 BO E£H 2 2 4
17 TE &7 2 2
17 B &5 2 2
17 ¥ E—H 2 2
17 Pt = 2 2
17 #iE EAER 2 2
17 M R 2 2
17 bic 2 2
17 feRIR 2 2
17 B K— 2 2
17 Tih EHA 2 2
17 ENI HE 2 2
17 LEER BEH 2 2
17 R iR 2 2
17 =E Efh 2 2
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1 hER Rx 30 50 30

2 FH EE 40 30 20

3 =R ® 50 50

3 k& B8 50 50

5 LLER 2 40 20

5 B8 m¥ 40 20

7 PR BRF 20 2 "

8 R AT 2 2 4
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1 ez B 50 50
1 =E gEZN 50 50
3 TE ¥ 40 45
3 MR —R 10 30 45
5 MR EE 40 40
6 EfR % 30 35
7 Tih Kt 20 25
8 HiE BX 20 20
9 B #54A 10 14
9 =B BE 10 14
11 BN Fka 10 12
12 E5E FHAED 10 10
12 Tih IS 10 10
12 FIRAE &% 10 10
15 TR ER 2 2 6
15 AR &2 2 2 6
15 B B&fE 2 2 6
18 =E & 2 2 4
19 IUTF B&E 2 2
19 ¥ FnE 2 2
19 AR #h=E 2 2
19 =8 & 2 2
19 BN KER 2 2
19 Tih iE 2 2
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1 k& BB 50 50 100
2 R SR 2 30 40 72
3 R BBF 40 40
4 niE BER 2 30 32
5 Mk BARE 30 30
5 R BedE 10 20 30
7 FEERE 7 20 20
8 R EF 10 10
9 g 5 2
9 it BEE 2
9 T BRE 2
9 Kk E 2




